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M.A. (FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

(ECONOMICS)
PAPER FIFTH

(INDUSTRIAL ECONOMICS)

Time : Three Hours] [Maximum Marks:80


Note : Attempt all sections as directed


Section - A

(1 Mark each)


(Objective/Multiple Choice Questions)
 

 Attempt all questions.

 Choose the correct answer:

1. 

(A)  (B) 

(C)   (D) 
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Objective of firm is-

(A) Maximum Profit

(B) Maximum Wealth

(C) Maximum Sale

(D) All of the above

2.     

(A) 

(B) 

(C) 

(D) 

When Alfred Weber theory was established-
(A) 1906
(B) 1907
(C) 1908
(D) 1909

3.  

(A)  

(B)  

(C)  

(D) 
Base of sargent Florence theory-
(A) Inductive analysis
(B) Deductive Analysis
(C) Logic Analysis
(D) All of the above
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4.   

(A)  

(B)  

(C)  

(D) 

Effect of Industrial localisation-
(A) Geographical causes
(B) Economic causes
(C) Political causes

(D) All of the above

5. 

(A) 

(B) 

(C) 

(D) 

In the market-
(A) Buyers
(B) Sellers
(C) Goods
(D) All of the above

6. 

(A) 05 

(B) 15 

(C) 20 

(D) 24 
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When was the new IIndustrial policy of India established?

(A) 05 July 1991

(B) 15 July 1991

(C) 20 July 1991

(D) 24 July 1991

7. 

(A)  

(B)   

(C)   

(D)   

When was the second Industrial policy of India declared?

(A) 6 March 1948
(B) 30 April 1950
(C) 15 July 1954
(D) 30 April 1956

8. 

(A) 

(B) 

(C)  

(D) 
In the sellers market-
(A) Maximum demand
(B) Maximum supply
(C) Maximum capital
(D) All of the above
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9. 

(A) 

(B) 

(C) 

(D)  
Where is the headquaters of National productivity coun-
cil located?

(A) Mumbai

(B) Ahmedabad

(C) Calcutta

(D) New Delhi

10. 

(A) 

(B)  

(C)  

(D) 
Reason for industrial localization is Alfred Weber's theory
is-
(A) Distance to be covered
(B) Labour cost
(C) Transport cost
(D) All of the above

11. 

(A)  (B) 

(C)  (D) 

P.T.O.
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India ranks at what place in coal production all over the
world-
(A) Second
(B) Third
(C) Fourth
(D) Fifth

12. 

(A) 

(B) 

(C) 

(D) 
Where is the Bokaro Iron nad steel company located-
(A) Bihar
(B) Raurkela
(B) Chhattisgarh
(D) Jharkhand

13. 


(A) 

(B) 

(C) 

(D) 

Bhilai steel plant was established by the collaboration of
which country?

(A) Germany (B) Britain

(C) France (D) Soviet Russia
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14. 

(A) 

(B) 

(C) 

(D) 

Largest sugar producing state of India is:
(A) Uttar Pradesh
(B) Punjab
(C) Bihar
(D) Maharashtra

15. 

(A)   

(B) 

(C) 

(D)  

Which Indian state has largest jute mills?
(A) West Bengal
(B) Uttar Pradesh
(C) Maharashtra
(D) Karnataka

16. 

(A) 

(B)  

(C) 

(D) 
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Problems of cottage Industries are-
(A) Problem of finance
(B) Problem of technique
(C) Problem of Raw materials
(D) All of the above

17.   

(A)  

(B) 

(C) 

(D)  
Establishment of theory of first industrial localisation was
propounded by
(A) Alfred Weber
(B) Marshal
(C) Pigou
(D) Sargent Florence

18. 
(A)  

(B)  

(C)  

(D)  

India is the largest Producing country of-
(A) Jute
(B) Iron
(C) Sugar
(D) Coal
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19. 

(A)   

(B)   

(C)   

(D)  

When was the small industries development bank of
India established?

(A) 2 April 1990

(B) 5 May 1992

(C) 7 July 1994

(D) 9 August 1996

20.    

(A) 19 

(B) 20 

(C) 21 

(D) 22 

When the first Nationalisation of bank was don.

(A) 19 July 1969

(B) 20 July 1969

(C) 21 July 1969

(D) 22 July 1969

P.T.O.
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

Section - B
(2 Marks each)



(Very Short Answer Type Questions)



Attempt the following  questions in 2 - 3 sentences.

1. 

What do you mean by firm?

2. 

What do you understand by company?

3.    

Define Public Sector

4. 

Define Exit Policy?

5. 

What is the diffrence between development and growth?

6. 

What is productivity?

7. 

What do you understand by labour legislation?

8. 

What is globalization?
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

Section - C
(3 Marks each)



(Short Answer Type Questions)



Attempt all questions writhin 75 words.

1. 

Write any three objectives of firm.

2.   

Write merits and demerits of sole proprietorship.

3. 

Explain the new Industrial policy of India.

4. 

Explain the Liberalisation in India.

5.   

Explain any three importance of cottage Industry.

6.   

Explain the social security.

7.   

Explain the Industrial Labour relations.

8. 

What are the main problems of Sugar Industry?

P.T.O.
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 

Section - D

(5 Marks each)



(Long Answer Type Questions)



Attempt all questions. Each answer should be in 150
words.

1. 
   

Discuss critically the theory of Industrial loaction pro-
pounded by Alfred Weber.

 OR



Throw light on the problems of Industrialisation in India.

2.         

Explain the factors affecting the productivity.

 OR



Throw light on privatisation in India.

3.          


Discuss the progress of working of the industrial devel-
opment bank of India.

      OR
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 

Explain the problems of Industrial finance in India.

4.  

Throw light on the problems of iron and steel Industry.

 OR

     
Explain the merits and demerits of Industrial Relations.


